RESEARCH

Boundary Value Problems a SpringerOpen Journal

Open Access

Determination of differential pencils with impulse from interior spectral data



Yongxia Guo^{1,2}, Guangsheng Wei² and Ruoxia Yao^{1*}

*Correspondence: rxyao@snnu.edu.cn ¹ School of Computer Science, Shaanxi Normal University, Xi'an, P.R. China Full list of author information is available at the end of the article

Abstract

In this paper, we are concerned with the inverse spectral problems for differential pencils defined on $[0, \pi]$ with an interior discontinuity. We prove that two potential functions are determined uniquely by one spectrum and a set of values of eigenfunctions at some interior point $b \in (0, \pi)$ in the situation of $b = \pi/2$ and $b \neq \pi/2$. For the latter, we need the knowledge of a part of the second spectrum.

MSC: Primary 34A55; 34L05; secondary 34L40

Keywords: Differential pencil; Discontinuous condition; Inverse problem; Interior spectral data; Uniqueness theorem

1 Introduction

We consider the quadratic pencils of Sturm–Liouville operator L(p,q;h,H;a) of the form

$$Ly := -y'' + [2\lambda p(x) + q(x)]y = \lambda^2 y, \quad x \in [0, \pi/2) \cup (\pi/2, \pi],$$
(1.1)

with the boundary conditions

$$\begin{cases} y'(0) - hy(0) = 0, \\ y'(\pi) + Hy(\pi) = 0, \end{cases}$$
(1.2)

and with the discontinuous conditions

$$\begin{cases} y(\pi/2+0) = ay(\pi/2-0), \\ y'(\pi/2+0) = a^{-1}y'(\pi/2-0), \end{cases}$$
(1.3)

where λ is the spectral parameter, $p(x) \in W_2^1[0, \pi]$, $q(x) \in L_2(0, \pi)$ are real-valued functions, $h, H \in \mathbb{R}$, and $a \in \mathbb{R}^+ / \{1\}$.

Differential equations with potentials depending nonlinearly on the spectral parameter appear frequently in various models of classical mechanics and quantum (see [5–7, 11, 18, 22] and the references therein). For instance, the evolution equations which are used to model interactions between colliding relativistic spineless particles can be reduced to the form (1.1), here the parameter λ^2 can be regarded as the energy of this system (see [5, 11, 18]).

© The Author(s) 2019. This article is distributed under the terms of the Creative Commons Attribution 4.0 International License (http://creativecommons.org/licenses/by/4.0/), which permits unrestricted use, distribution, and reproduction in any medium, provided you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons license, and indicate if changes were made.



Boundary value problems with discontinuity inside the interval often appear in mathematics, physics, geophysics, mechanics, and other branches of natural properties (see [1, 3, 4, 8, 10, 13–17, 20] and the references therein). The well-known work [4] is the first result about discontinuous inverse eigenvalue problems for the Sturm–Liouville problems, i.e., $p(x) \equiv 0$ in (1.1). Direct and inverse problems for differential pencils with impulse on a finite interval have been investigated in [2].

Inverse spectral problems consist in recovering operators from their spectral characteristics. The interior spectral data used for reconstructing the differential operators contains the known eigenvalues and some information on eigenfunctions at some interior point in the defined interval. The similar problems for the Sturm–Liouville operators and differential pencils were considered in [12, 19, 21].

The aim of this paper is to recover the pencils L(p,q;h,H;a) uniquely from some eigenvalues and information on eigenfunctions at the interior point $b \in (0,\pi)$. As far as we know, the inverse problem for interior spectra data of quadratic pencils with impulse has not been considered before. Note that the obtained results here are new and they are a generalization of the well-known one for the classical Sturm–Liouville operator, which was studied in [12], for a special case that $p(x) \equiv 0$ and a = 1. The results in this paper are also a generalization of theorems in [21], where the authors considered the special case that a = 1 and assumed either p(x) or q(x) is known a priori, which is unnecessary. The technique we used is similar to those used in [12, 19, 21].

2 Main results

It is known [2] that the spectrum of the pencils L(p,q;h,H;a) consists of simple, real eigenvalues λ_n , $n \in \mathbb{Z}$ under the additional assumption that

$$\int_0^{\pi} \left\{ \left| y'(x) \right|^2 + q(x) \left| y(x) \right|^2 \right\} \mathrm{d}x > 0$$

for all $y(x) \in W_2^2[0, \pi/2) \cup (\pi/2, \pi]$ such that $y(x) \neq 0$ and $y'(0)\overline{y(0)} - y'(\pi)\overline{y(\pi)} = 0$. The sequence $\{\lambda_n\}_{-\infty}^{\infty}$ satisfies the classical asymptotic form [2]

$$\lambda_n = n + \frac{\omega}{\pi} + O\left(\frac{1}{n}\right), \quad |n| \to \infty,$$
(2.1)

where

$$\omega = \int_0^{\pi} p(t) dt + (-1)^n \arcsin A_n$$
$$A = \frac{a - a^{-1}}{a + a^{-1}} \sin\left(\int_{\pi/2}^{\pi} p(t) dt\right).$$

Denote by $y_n(x)$ the eigenfunction corresponding to the eigenvalue λ_n . Together with L(p,q;h,H;a), let us consider another differential pencil $\tilde{L}(\tilde{p},\tilde{q};\tilde{h},\tilde{H};a)$ of the same form but with different coefficients $(\tilde{p}(x),\tilde{q}(x);\tilde{h},\tilde{H})$. It is assumed in what follows that if a certain symbol δ denotes an object related to L, then $\tilde{\delta}$ will denote an analogous object related to \tilde{L} .

The main results of this paper are as follows.

Theorem 2.1 *If, for any* $n \in \mathbb{Z}$ *,*

$$\lambda_n = \tilde{\lambda}_n, \qquad \frac{y'(\pi/2 - 0, \lambda_n)}{y(\pi/2 - 0, \lambda_n)} = \frac{\tilde{y}'(\pi/2 - 0, \lambda_n)}{\tilde{y}(\pi/2 - 0, \lambda_n)},$$
(2.2)

then $p(x) = \tilde{p}(x)$ on $[0, \pi]$, $q(x) = \tilde{q}(x)$ a.e. on $[0, \pi]$, and $h = \tilde{h}$, $H = \tilde{H}$.

Remark 2.2 Note that if y(x) and z(x) are two continuously differentiable functions on $[0, \pi/2) \cup (\pi/2, \pi]$ and satisfy the same discontinuous condition (1.3), then a direct calculation yields that

$$(y'z - yz')(\pi/2 - 0) = (y'z - yz')(\pi/2 + 0).$$

Thus, we can replace the condition $y'(\pi/2 - 0, \lambda_n)/y(\pi/2 - 0, \lambda_n) = \tilde{y}'(\pi/2 - 0, \lambda_n)/\tilde{y}(\pi/2 - 0, \lambda_n)$ $0, \lambda_n)$ by $y'(\pi/2 + 0, \lambda_n)/y(\pi/2 + 0, \lambda_n) = \tilde{y}'(\pi/2 + 0, \lambda_n)/\tilde{y}(\pi/2 + 0, \lambda_n)$ in Theorem 2.1.

For the case $b \neq \pi/2$, the uniqueness of (p,q;h,H) can be obtained from a part of the second spectrum. We denote by μ_n the eigenvalues of the pencils $L(p,q;h,H_1;a)$, $H_1 \neq H$, $H_1 \in \mathbb{R}$. Let l(n), r(n) be sequences of integers with the properties

$$l(n) = \frac{n}{\sigma_1} (1 + \epsilon_{1,n}), \quad 0 < \sigma_1 \le 1, \epsilon_{1,n} \to 0,$$
(2.3)

$$r(n) = \frac{n}{\sigma_2} (1 + \epsilon_{2,n}), \quad 0 < \sigma_2 \le 1, \epsilon_{2,n} \to 0.$$

$$(2.4)$$

Theorem 2.3 Let l(n), r(n), and $b \in (\pi/2, \pi)$ be such that

$$\sigma_1 > \frac{2b}{\pi} - 1, \qquad \sigma_2 > 2 - \frac{2b}{\pi}.$$
 (2.5)

If, for any $n \in \mathbb{Z}$ *,*

$$\lambda_n = \tilde{\lambda}_n, \qquad \mu_{l(n)} = \tilde{\mu}_{l(n)}, \qquad \frac{y'(b, \lambda_{r(n)})}{y(b, \lambda_{r(n)})} = \frac{\tilde{y}'(b, \lambda_{r(n)})}{\tilde{y}(b, \lambda_{r(n)})}, \tag{2.6}$$

then $p(x) = \tilde{p}(x)$ on $[0, \pi]$, $q(x) = \tilde{q}(x)$ a.e. on $[0, \pi]$, and $h = \tilde{h}$, $H = \tilde{H}$.

3 Preliminaries

We shall first mention some results which will be needed later.

Let the function $\varphi(x, \lambda)$ be the solution of equation (1.1) with the initial-valued conditions

$$\varphi(0,\lambda) = 1, \qquad \varphi'(0,\lambda) = h, \tag{3.1}$$

and the discontinuity conditions (1.3). It is shown in [2] that there exist functions A(x, t) and B(x, t) whose first order partial derivatives are summable on $[0, \pi]$ for each $x \in [0, \pi]$ such that

$$\varphi(x,\lambda) = \varphi_0(x,\lambda) + \int_0^x A(x,t) \cos \lambda t \, \mathrm{d}t + \int_0^x B(x,t) \sin \lambda t \, \mathrm{d}t, \tag{3.2}$$

where

$$\varphi_0(x,\lambda) = \begin{cases} \cos(\lambda x - \beta^+(x)), & x \in (0,\frac{\pi}{2}), \\ \alpha^+ \cos(\lambda x - \beta^+(x)) + \alpha^- \cos(\lambda(\pi - x) + \beta^-(x)), & x \in (\frac{\pi}{2},\pi), \end{cases}$$
(3.3)

and

$$\alpha^{\pm} = \frac{1}{2} (a \pm a^{-1}), \qquad \beta^{+}(x) = \int_{0}^{x} p(t) \, \mathrm{d}t, \qquad \beta^{-}(x) = \int_{\pi/2}^{x} p(t) \, \mathrm{d}t. \tag{3.4}$$

It follows from (3.2) and (3.3) that the characteristic function of the pencil L(p,q;h,H;a) can be reduced to $\Delta(\lambda)$, where

$$\Delta(\lambda) = \varphi'(\pi, \lambda) + H\varphi(\pi, \lambda)$$

= $\lambda \left[\alpha^{-} \sin(\beta^{-}(\pi)) - \alpha^{+} \sin(\lambda \pi - \beta^{+}(\pi)) \right] + O(e^{|\operatorname{Im}\lambda|\pi}).$ (3.5)

Denote by $G_{\delta} = \{\lambda : |\lambda - n - \omega/\pi| \ge \delta, n \in \mathbb{Z}\}$ with fixed $\delta > 0$. Then there exists a constant $C_{\delta} > 0$ such that

$$\left|\Delta(\lambda)\right| \ge C_{\delta}|\lambda|\exp\left(|\operatorname{Im}\lambda|\pi\right) \quad \text{for } \lambda \in G_{\delta}.$$
(3.6)

Moreover, for the solutions $\varphi(x, \lambda)$ and $\tilde{\varphi}(x, \lambda)$ of the operators *L* and \tilde{L} , respectively, using (3.2)–(3.4), and by extending the range of A(x, t), $\tilde{A}(x, t)$ evenly with respect to the argument *t* and B(x, t), $\tilde{B}(x, t)$ oddly with respect to the argument *t*, and by some straightforward calculations, we infer that there exist functions $R_1(x, t)$ and $R_2(x, t)$ whose first order partial derivatives are summable on $[0, \pi]$ for each $x \in [0, \pi]$ such that, for $0 < x < \pi/2$,

$$\varphi(x,\lambda)\tilde{\varphi}(x,\lambda) = \frac{1}{2} \Big[\cos\Big(2\lambda x - \theta_1^+(x)\Big) + \cos\Big(\theta_1^-(x)\Big) \Big] \\ + \int_0^x \Big[R_1(x,t)e^{2i\lambda t} + R_2(x,t)e^{-2i\lambda t} \Big] dt, \qquad (3.7)$$

and for $\pi/2 < x < \pi$,

$$\begin{split} \varphi(x,\lambda)\tilde{\varphi}(x,\lambda) &= \frac{(\alpha^{+})^{2}}{2} \Big[\cos(2\lambda x - \theta_{1}^{+}(x)) + \cos(\theta_{1}^{-}(x)) \Big] \\ &+ \frac{(\alpha^{-})^{2}}{2} \Big[\cos(2\lambda(\pi - x) + \theta_{2}^{+}(x)) + \cos(\theta_{2}^{-}(x)) \Big] \\ &+ \frac{\alpha^{+}\alpha^{-}}{2} \Big[\cos(\lambda(2x - \pi) - \beta^{+}(x) - \tilde{\beta}^{-}(x)) + \cos(\lambda\pi - \beta^{+}(x) + \tilde{\beta}^{-}(x)) \Big] \\ &+ \frac{\alpha^{+}\alpha^{-}}{2} \Big[\cos(\lambda(2x - \pi) - \beta^{-}(x) - \tilde{\beta}^{+}(x)) + \cos(\lambda\pi + \beta^{-}(x) - \tilde{\beta}^{+}(x)) \Big] \\ &+ \int_{0}^{x} \Big[R_{1}(x,t)e^{2i\lambda t} + R_{2}(x,t)e^{-2i\lambda t} \Big] dt, \end{split}$$
(3.8)

where

$$\theta_1^{\pm}(x) = \beta^+(x) \pm \tilde{\beta}^+(x), \qquad \theta_2^{\pm}(x) = \beta^-(x) \pm \tilde{\beta}^-(x).$$
 (3.9)

4 Proof of Theorem 2.1

In this section, we give the proof of Theorem 2.1.

Proof of Theorem 2.1 Let $\varphi(x, \lambda)$ be the solution of equation (1.1) satisfying the initial-valued conditions (3.1) and the discontinuity conditions (1.3). Let $\tilde{\varphi}(x, \lambda)$ be the solution of the equation

$$-\tilde{\varphi}''(x,\lambda) + \left[2\lambda\tilde{p}(x) + \tilde{q}(x)\right]\tilde{\varphi}(x,\lambda) = \lambda^2\tilde{\varphi}(x,\lambda)$$
(4.1)

with the initial-valued conditions

$$\tilde{\varphi}(0,\lambda) = 1, \qquad \tilde{\varphi}'(0,\lambda) = \tilde{h}$$
(4.2)

and the discontinuity conditions (1.3). Multiplying (1.1) by $\tilde{\varphi}(x, \lambda)$ and (4.1) by $\varphi(x, \lambda)$, respectively, and subtracting, we get

$$\frac{\mathrm{d}}{\mathrm{d}x} \Big[\tilde{\varphi}(x,\lambda)\varphi'(x,\lambda) - \tilde{\varphi}'(x,\lambda)\varphi(x,\lambda) \Big] = \Big[2\lambda(p-\tilde{p})(x) + (q-\tilde{q})(x) \Big] \varphi(x,\lambda)\tilde{\varphi}(x,\lambda).$$
(4.3)

Integrating the above equality from 0 to $\pi/2$ with respect to *x*, using the initial conditions at *x* = 0, we have

$$\int_0^{\pi/2} \left[2\lambda(p-\tilde{p}) + (q-\tilde{q}) \right] (\varphi\tilde{\varphi})(x,\lambda) \, \mathrm{d}x + (h-\tilde{h})$$
$$= \tilde{\varphi} \left(\frac{\pi}{2} - 0, \lambda \right) \varphi' \left(\frac{\pi}{2} - 0, \lambda \right) - \tilde{\varphi}' \left(\frac{\pi}{2} - 0, \lambda \right) \varphi \left(\frac{\pi}{2} - 0, \lambda \right).$$

Denote

$$P(x) = p(x) - \tilde{p}(x), \qquad Q(x) = q(x) - \tilde{q}(x)$$

and

$$H(\lambda) = h - \tilde{h} + 2\lambda \int_0^{\pi/2} P(x)(\varphi\tilde{\varphi})(x,\lambda) \,\mathrm{d}x + \int_0^{\pi/2} Q(x)(\varphi\tilde{\varphi})(x,\lambda) \,\mathrm{d}x. \tag{4.4}$$

It follows from (3.2)–(3.3) and (3.7) that $H(\lambda)$ is an entire function of exponential type, and there are some positive constants C_1 and C_2 such that

$$|H(\lambda)| \le (C_1 + C_2|\lambda|) \exp(|\operatorname{Im} \lambda|\pi) \quad \text{for all } \lambda \in \mathbb{C}.$$

$$(4.5)$$

From assumption (2.2) we have

$$\tilde{\varphi}\left(\frac{\pi}{2}-0,\lambda_n\right)\varphi'\left(\frac{\pi}{2}-0,\lambda_n\right)-\tilde{\varphi}'\left(\frac{\pi}{2}-0,\lambda_n\right)\varphi\left(\frac{\pi}{2}-0,\lambda_n\right)=0,$$

which means

$$H(\lambda_n) = 0, \quad n \in \mathbb{Z}.$$

$$(4.6)$$

Define

$$W(\lambda) = \frac{H(\lambda)}{\Delta(\lambda)},\tag{4.7}$$

which is an entire function from the above arguments, and it follows from (3.6) and (4.5) that

$$W(\lambda) = O(1)$$

for sufficiently large $|\lambda|$, $\lambda \in G_{\delta}$. Thus, by Liouville's theorem [9], we obtain for all $\lambda \in \mathbb{C}$ that

$$W(\lambda) = C$$
,

where C is a constant, this together with (4.7) further gives that

$$H(\lambda) = C\Delta(\lambda) \quad \text{for all } \lambda \in \mathbb{C}.$$

$$(4.8)$$

Let us show that the constant *C* = 0. Based on (4.7) and (3.5), we can rewrite the equation $H(\lambda) = C\Delta(\lambda)$ in the form

$$h - \tilde{h} + 2\lambda \int_0^{\pi/2} P(x)(\varphi \tilde{\varphi})(x, \lambda) \, \mathrm{d}x + \int_0^{\pi/2} Q(x)(\varphi \tilde{\varphi})(x, \lambda) \, \mathrm{d}x$$
$$= C\lambda \Big[\alpha^- \sin(\beta^-(\pi)) - \alpha^+ \sin(\lambda \pi - \beta^+(\pi)) \Big] + O(e^{|\operatorname{Im}\lambda|\pi}),$$

that is,

$$\frac{h-\tilde{h}}{\lambda} + 2\int_0^{\pi/2} P(x)(\varphi\tilde{\varphi})(x,\lambda) \,\mathrm{d}x + \int_0^{\pi/2} \frac{Q(x)}{\lambda}(\varphi\tilde{\varphi})(x,\lambda) \,\mathrm{d}x$$
$$= C[\alpha^- \sin(\beta^-(\pi)) - \alpha^+ \sin(\lambda\pi - \beta^+(\pi))] + O\left(\frac{e^{|\operatorname{Im}\lambda|\pi}}{\lambda}\right).$$

By use of Riemann–Lebesgue lemma [9], we see that the limit of the left-hand side of the above equality exists as $\lambda \to \infty$, $\lambda \in \mathbb{R}$. Thus we obtain that C = 0. So we have from (4.8) that

$$H(\lambda) = 0 \quad \text{for all } \lambda \in \mathbb{C}. \tag{4.9}$$

Substituting (3.7) into (4.4), we get

$$H(\lambda) = h - \tilde{h} + 2\lambda \int_0^{\pi/2} P(x)(\varphi \tilde{\varphi})(x, \lambda) \, \mathrm{d}x + \int_0^{\pi/2} Q(x)(\varphi \tilde{\varphi})(x, \lambda) \, \mathrm{d}x$$
$$= h - \tilde{h} + \frac{1}{2} \int_0^{\pi/2} Q(x) \Big[\cos(2\lambda x - \theta_1^+(x)) + \cos(\theta_1^-(x)) \Big] \, \mathrm{d}x$$
$$+ \int_0^{\pi/2} Q(x) \int_0^x \Big[R_1(x, t) e^{2i\lambda t} + R_2(x, t) e^{-2i\lambda t} \Big] \, \mathrm{d}t \, \mathrm{d}x$$

$$+ \lambda \int_{0}^{\pi/2} P(x) \left[\cos(2\lambda x - \theta_{1}^{+}(x)) + \cos(\theta_{1}^{-}(x)) \right] dx + 2\lambda \int_{0}^{\pi/2} P(x) \int_{0}^{x} \left[R_{1}(x,t)e^{2i\lambda t} + R_{2}(x,t)e^{-2i\lambda t} \right] dt dx = h - \tilde{h} + \frac{1}{2} \int_{0}^{\pi/2} Q(x) \cos(\theta_{1}^{-}(x)) dx + \lambda \int_{0}^{\pi/2} P(x) \cos(\theta_{1}^{-}(x)) dx + \frac{1}{2} \int_{0}^{\pi/2} Q_{1}(t)e^{2i\lambda t} dt + \frac{1}{2} \int_{0}^{\pi/2} Q_{2}(t)e^{-2i\lambda t} dt + \lambda \int_{0}^{\pi/2} P_{1}(t)e^{2i\lambda t} dt + \lambda \int_{0}^{\pi/2} P_{2}(t)e^{-2i\lambda t} dt,$$

where

$$\begin{cases} Q_{1}(t) = \frac{1}{2}Q(t)e^{-i\theta_{1}^{+}(t)} + 2\int_{t}^{\pi/2}Q(x)R_{1}(x,t)\,\mathrm{d}x, \\ Q_{2}(t) = \frac{1}{2}Q(t)e^{i\theta_{1}^{+}(t)} + 2\int_{t}^{\pi/2}Q(x)R_{2}(x,t)\,\mathrm{d}x, \\ P_{1}(t) = \frac{1}{2}P(t)e^{-i\theta_{1}^{+}(t)} + 2\int_{t}^{\pi/2}P(x)R_{1}(x,t)\,\mathrm{d}x, \\ P_{2}(t) = \frac{1}{2}P(t)e^{i\theta_{1}^{+}(t)} + 2\int_{t}^{\pi/2}P(x)R_{2}(x,t)\,\mathrm{d}x. \end{cases}$$
(4.10)

Moreover, by use of the Riemann–Lebesgue lemma as $\lambda \to \infty$, $\lambda \in \mathbb{R}$, we obtain from the fact $H(\lambda) \equiv 0$ that

$$\int_0^{\pi/2} P(x) \cos(\theta_1^-(x)) \, \mathrm{d}x = 0.$$

Thus, the function $H(\lambda)$ can be reduced as

$$H(\lambda) = h - \tilde{h} + \frac{1}{2} \int_{0}^{\pi/2} Q(x) \cos(\theta_{1}^{-}(x)) dx$$

+ $\frac{1}{2} \int_{0}^{\pi/2} Q_{1}(t) e^{2i\lambda t} dt + \frac{1}{2} \int_{0}^{\pi/2} Q_{2}(t) e^{-2i\lambda t} dt$
+ $\lambda \int_{0}^{\pi/2} P_{1}(t) e^{2i\lambda t} dt + \lambda \int_{0}^{\pi/2} P_{2}(t) e^{-2i\lambda t} dt.$ (4.11)

Integrating by parts in (4.11), we have from (4.10) that

$$\begin{split} H(\lambda) &= h - \tilde{h} + \frac{1}{2} \int_{0}^{\pi/2} Q(x) \cos(\theta_{1}^{-}(x)) \, \mathrm{d}x \\ &+ \frac{1}{2} \int_{0}^{\pi/2} Q_{1}(t) e^{2i\lambda t} \, \mathrm{d}t + \frac{1}{2} \int_{0}^{\pi/2} Q_{2}(t) e^{-2i\lambda t} \, \mathrm{d}t \\ &+ \frac{1}{2} P\left(\frac{\pi}{2}\right) \sin\left(\lambda \pi - \theta_{1}^{+}\left(\frac{\pi}{2}\right)\right) + \frac{i}{2} \left(P_{1}(0) - P_{2}(0)\right) \\ &+ \frac{i}{2} \int_{0}^{\pi/2} P_{1}'(t) e^{2i\lambda t} \, \mathrm{d}t - \frac{i}{2} \int_{0}^{\pi/2} P_{2}'(t) e^{-2i\lambda t} \, \mathrm{d}t. \end{split}$$

Again, by use of the Riemann–Lebesgue lemma as $\lambda \to \infty$, $\lambda \in \mathbb{R}$, we obtain from the fact $H(\lambda) \equiv 0$ that

$$P\left(\frac{\pi}{2}\right) = 0,\tag{4.12}$$

$$h - \tilde{h} + \frac{1}{2} \int_0^{\pi/2} Q(x) \cos\left(\theta_1^-(x)\right) dx + \frac{i}{2} \left(P_1(0) - P_2(0)\right) = 0, \tag{4.13}$$

and

$$\int_0^{\pi/2} \left[Q_1(t) + iP_1'(t) \right] e^{2i\lambda t} \, \mathrm{d}t + \int_0^{\pi/2} \left[Q_2(t) - iP_2'(t) \right] e^{-2i\lambda t} \, \mathrm{d}t = 0.$$
(4.14)

Because the exponential system $\{(e^{2i\lambda t}, e^{-2i\lambda t})^T : \lambda \in \mathbb{R}\}$ is complete in $(L^2(0, \pi/2))^2$, consequently,

$$Q_1(t) + iP'_1(t) = 0 = Q_2(t) - iP'_2(t) \quad \text{for } t \in (0, \pi/2).$$
(4.15)

Substituting (4.10) into (4.15), together with (4.12), we have

$$\begin{cases} Q(t)e^{-i\theta_{1}^{+}(t)} + [(\theta_{1}^{+}(t))'e^{-i\theta_{1}^{+}(t)} - 4iR_{1}(t,t)]P(t) + ie^{-i\theta_{1}^{+}(t)}P'(t) \\ + 4\int_{t}^{\pi/2}Q(x)R_{1}(x,t) \, dx + 4i\int_{t}^{\pi/2}P(x)\frac{\partial}{\partial t}R_{1}(x,t) \, dx = 0, \\ Q(t)e^{i\theta_{1}^{+}(t)} + [(\theta_{1}^{+}(t))'e^{i\theta_{1}^{+}(t)} + 4iR_{2}(t,t)]P(t) - ie^{i\theta_{1}^{+}(t)}P'(t) \\ + 4\int_{t}^{\pi/2}Q(x)R_{2}(x,t) \, dx - 4i\int_{t}^{\pi/2}P(x)\frac{\partial}{\partial t}R_{2}(x,t) \, dx = 0, \\ P(t) + \int_{t}^{\pi/2}P'(x) \, dx = 0. \end{cases}$$
(4.16)

Define

$$\begin{split} F(t) &= \left(Q(t), P(t), P'(t)\right)^T, \\ K_1(t) &= \begin{pmatrix} e^{-i\theta_1^+(t)} & (\theta_1^+(t))' e^{-i\theta_1^+(t)} - 4iR_1(t,t) & ie^{-i\theta_1^+(t)} \\ e^{i\theta_1^+(t)} & (\theta_1^+(t))' e^{i\theta_1^+(t)} + 4iR_2(t,t) & -ie^{i\theta_1^+(t)} \\ 0 & 1 & 0 \end{pmatrix}, \end{split}$$

and

$$K_{2}(x,t) = \begin{pmatrix} 4R_{1}(x,t) & 4i\frac{\partial}{\partial t}R_{1}(x,t) & 0\\ 4R_{2}(x,t) & -4i\frac{\partial}{\partial t}R_{2}(x,t) & 0\\ 0 & 0 & 1 \end{pmatrix}.$$

Equation (4.16) can readily be reduced to a vector form

$$K_1(t)F(t) + \int_t^{\pi/2} K_2(x,t)F(x) \,\mathrm{d}x = 0 \quad \text{for } t \in (0,\pi/2). \tag{4.17}$$

Because det $K_1(t) = 2i \neq 0$, (4.17) can be rewritten as

$$F(t) + \int_t^{\pi/2} K_1^{-1}(t) K_2(x,t) F(x) \, \mathrm{d}x = 0 \quad \text{for } t \in (0,\pi/2).$$

This is a homogeneous Volterra integral equation and the kernel function is $K_1^{-1}(t)K_2(x, t)$, its solution is identically zero. Thus, we have

$$F(t) = \mathbf{0}$$
 a.e. on $[0, \pi/2]$,

which yields that

$$Q(t) = 0 = P(t)$$
 a.e. on $[0, \pi/2]$.

Therefore, we obtain

 $p(x) = \tilde{p}(x)$ on $[0, \pi/2]$, $q(x) = \tilde{q}(x)$ a.e. on $[0, \pi/2]$.

Moreover, from (4.10) and (4.13), it is obvious that

 $h = \tilde{h}$.

To prove that

$$p(x) = \tilde{p}(x)$$
 on $[\pi/2, \pi]$, $q(x) = \tilde{q}(x)$ a.e. on $[\pi/2, \pi]$, $H = \tilde{H}$, (4.18)

we should repeat the earlier argument for the supplementary problem

$$\begin{cases} -y'' + [2\lambda p_1(x) + q_1(x)]y = \lambda^2 y, & x \in [0, \pi/2) \cup (\pi/2, \pi], \\ y'(0) - Hy(0) = 0, \\ y'(\pi) + hy(\pi) = 0, \\ y(\pi/2 + 0) = a^{-1}y(\pi/2 - 0), \\ y'(\pi/2 + 0) = ay'(\pi/2 - 0), \end{cases}$$

where $q_1(x) = q(\pi - x)$ and $p_1(x) = p(\pi - x)$. Thus, we obtain $Q(\pi - t) = 0 = P(\pi - t)$ a.e. on $[0, \pi/2]$, and $H = \tilde{H}$, that is, (4.18) holds. The proof is complete.

5 Proof of Theorem 2.3

To prove Theorem 2.3, we need the following lemma.

Lemma 5.1 Let m(n) be a sequence of integers such that

$$m(n) = \frac{n}{\sigma}(1 + \epsilon_n), \quad 0 < \sigma \le 1, \epsilon_n \to 0.$$
(5.1)

(i) Let $b \in (0, \pi/2)$ satisfy $\sigma > 2b/\pi$. If, for any $n \in \mathbb{Z}$,

$$\lambda_{m(n)} = \tilde{\lambda}_{m(n)}, \qquad \frac{y'(b, \lambda_{m(n)})}{y(b, \lambda_{m(n)})} = \frac{\tilde{y}'(b, \lambda_{m(n)})}{\tilde{y}(b, \lambda_{m(n)})}, \tag{5.2}$$

then $p(x) = \tilde{p}(x)$ on [0, b], $q(x) = \tilde{q}(x)$ a.e. on [0, b], and $h = \tilde{h}$.

(ii) Let $b \in (\pi/2, \pi)$ satisfy $\sigma > 2 - 2b/\pi$. If, for any $n \in \mathbb{Z}$,

$$\lambda_{m(n)} = \tilde{\lambda}_{m(n)}, \qquad \frac{y'(b, \lambda_{m(n)})}{y(b, \lambda_{m(n)})} = \frac{\tilde{y}'(b, \lambda_{m(n)})}{\tilde{y}(b, \lambda_{m(n)})}, \tag{5.3}$$

then
$$p(x) = \tilde{p}(x)$$
 on $[b, \pi]$, $q(x) = \tilde{q}(x)$ a.e. on $[b, \pi]$, and $H = \tilde{H}$.

Proof (i) Integrating equation (4.3) from 0 to *b* with respect to *x*, using the initial conditions at x = 0, we obtain

$$\int_0^b \left[2\lambda(p-\tilde{p}) + (q-\tilde{q}) \right] (\varphi\tilde{\varphi})(x,\lambda) \, \mathrm{d}x + (h-\tilde{h}) = \tilde{\varphi}(b,\lambda)\varphi'(b,\lambda) - \tilde{\varphi}'(b,\lambda)\varphi(b,\lambda).$$

Define

$$H_1(\lambda) = h - \tilde{h} + 2\lambda \int_0^b (p - \tilde{p})(x)(\varphi \tilde{\varphi})(x, \lambda) \,\mathrm{d}x + \int_0^b (q - \tilde{q})(x)(\varphi \tilde{\varphi})(x, \lambda) \,\mathrm{d}x. \tag{5.4}$$

From assumption (5.2) we have

$$\tilde{\varphi}(b,\lambda_{m(n)})\varphi'(b,\lambda_{m(n)}) - \tilde{\varphi}'(b,\lambda_{m(n)})\varphi(b,\lambda_{m(n)}) = 0,$$

which means

$$H_1(\lambda_{m(n)}) = 0, \quad n \in \mathbb{Z}.$$

$$(5.5)$$

Next, we shall show that $H_1(\lambda) \equiv 0$ on the whole λ -plane. From (5.4) and (3.7) one has

$$|H_1(\lambda)| \le (C_1 + C_2 r) e^{2br|\sin\theta|}$$
(5.6)

for some positive constants C_1 and C_2 , where $\lambda = re^{i\theta}$. Moreover, we see that the entire function $H_1(\lambda)$ is a function of exponential type $\leq 2b$. Define the indicator of function $H_1(\lambda)$ by

$$h(\theta) = \limsup_{r \to \infty} \frac{\ln |H_1(re^{i\theta})|}{r}.$$
(5.7)

One obtains the following estimate from (5.6) and (5.7):

$$h(\theta) \le 2b|\sin\theta|.$$

Let us denote by n(r) the number of zeros of $H_1(\lambda)$ in the disk $|\lambda| \le r$. From equation (5.5), the assumption of this lemma, and the known asymptotic expression (2.1) of the eigenvalues λ_n , we have the following estimate for the number of zeros of $H_1(\lambda)$ in the disk $|\lambda| \le r$:

$$n(r) = 1 + 2\left[\sigma r(1 + \epsilon(r))\right] = 2\sigma r(1 + \epsilon(r)).$$

Here $\epsilon(r) \to 0$ for $r \to \infty$ and [x] is the integer part of x. It follows that in the case under consideration

$$\lim_{r \to \infty} \frac{n(r)}{r} = 2\sigma > \frac{4b}{\pi} = \frac{b}{\pi} \int_0^{2\pi} |\sin\theta| \, \mathrm{d}\theta \ge \frac{1}{2\pi} \int_0^{2\pi} h(\theta) \, \mathrm{d}\theta.$$
(5.8)

To complete the proof, we have to recall the following theorem [9, p. 173]: The set of zeros of every entire function of the exponential type, not identically zero, satisfy the inequality

$$\liminf_{r \to \infty} \frac{n(r)}{r} \le \frac{1}{2\pi} \int_0^{2\pi} h(\theta) \,\mathrm{d}\theta.$$
(5.9)

Inequalities (5.8) and (5.9) imply that $H_1(\lambda) \equiv 0$ on the whole λ -plane. As already mentioned, if $H_1(\lambda) \equiv 0$, then repeating the last part of the proof of Theorem 2.1 (from (4.9) to (4.18)), we have that the conclusion of this lemma is true.

(ii) To prove that

$$p(x) = \tilde{p}(x)$$
 on $[b, \pi]$, $q(x) = \tilde{q}(x)$ a.e. on $[b, \pi]$, $H = \tilde{H}$,

we will consider the supplementary problem \hat{L}

$$\begin{aligned} -y'' + [2\lambda p_1(x) + q_1(x)]y &= \lambda^2 y, \quad x \in [0, \pi/2) \cup (\pi/2, \pi], \\ y'(0) - Hy(0) &= 0, \\ y'(\pi) + hy(\pi) &= 0, \\ y(\pi/2 + 0) &= a^{-1}y(\pi/2 - 0), \\ y'(\pi/2 + 0) &= ay'(\pi/2 - 0), \end{aligned}$$

where $q_1(x) = q(\pi - x)$ and $p_1(x) = p(\pi - x)$. A direct calculation implies that $\hat{y}_n(x) := y_n(\pi - x)$ is the solution to the supplementary problem \hat{L} and $\hat{y}_n(\pi - b) = y_n(b)$. Note that $\pi - b \in (0, \pi/2)$. Thus, the assumption conditions for \hat{L} in case (i) are still satisfied. Repeating the above arguments, we can obtain the proof of this lemma.

Now we can give the proof of Theorem 2.3.

Proof of Theorem 2.3 Firstly, let us note that based on the condition

$$\lambda_{r(n)} = \tilde{\lambda}_{r(n)}, \qquad \frac{\varphi'(b, \lambda_{r(n)})}{\varphi(b, \lambda_{r(n)})} = \frac{\tilde{\varphi}'(b, \lambda_{r(n)})}{\tilde{\varphi}(b, \lambda_{r(n)})}, \tag{5.10}$$

it follows from Lemma 5.1 that $p(x) = \tilde{p}(x)$ on $[b, \pi]$, $q(x) = \tilde{q}(x)$ a.e. on $[b, \pi]$, and $H = \tilde{H}$. Thus it needs to be proved that $p(x) = \tilde{p}(x)$ on [0, b], $q(x) = \tilde{q}(x)$ a.e. on [0, b], and $h = \tilde{h}$.

For the case of $b \in (\pi/2, \pi)$, integrating equation (4.3) from 0 to *b* with respect to *x*, using the initial conditions at x = 0, we obtain

$$H_{2}(\lambda) := (h - \tilde{h}) + \int_{0}^{b} \left[2\lambda(p - \tilde{p}) + (q - \tilde{q}) \right] (\varphi \tilde{\varphi})(x, \lambda) dx$$

$$= \tilde{\varphi}(b, \lambda) \varphi'(b, \lambda) - \tilde{\varphi}'(b, \lambda) \varphi(b, \lambda)$$

$$+ \left[\tilde{\varphi}(x, \lambda) \varphi'(x, \lambda) - \tilde{\varphi}'(x, \lambda) \varphi(x, \lambda) \right] \Big|_{\pi/2 + 0}^{\pi/2 - 0}.$$
(5.11)

We will finish the remainder of the proof by the following three steps.

Step 1: To prove that $H_2(\lambda) \equiv 0$ for $\lambda \in \mathbb{C}$. Since $H = \tilde{H}$, we get that the eigenfunctions $\varphi(x, \lambda_n)$ and $\tilde{\varphi}(x, \lambda_n)$ satisfy the same boundary condition at $x = \pi$, we have from the conclusion of $p(x) = \tilde{p}(x)$ on $[b, \pi]$, $q(x) = \tilde{q}(x)$ a.e. on $[b, \pi]$ that

$$\varphi(x,\lambda_n) = \gamma_n \tilde{\varphi}(x,\lambda_n) \quad \text{on } [b,\pi], n \in \mathbb{Z},$$
(5.12)

where γ_n are constants. Since the functions $\varphi(x, \lambda_n)$ and $\tilde{\varphi}(x, \lambda_n)$ satisfy the same discontinuous conditions at $x = \pi/2$ (see (1.3)), we infer by a direct calculation that

$$\left[\tilde{\varphi}\varphi'-\tilde{\varphi}'\varphi\right](\pi/2+0,\lambda_n)=\left[\tilde{\varphi}\varphi'-\tilde{\varphi}'\varphi\right](\pi/2-0,\lambda_n).$$

Hence we obtain from (5.11) and (5.12) that

$$H_2(\lambda_n) = 0, \quad n \in \mathbb{Z}. \tag{5.13}$$

Moreover, for the same reason, we also obtain that $H_2(\mu_{l(n)}) = 0$, $n \in \mathbb{Z}$. According to the asymptotic expression for eigenvalues λ_n and μ_n , see (2.1), counting the number of λ_n and μ_n located inside the disc of radius r, we obtain 1 + 2[r + O(1)] of λ'_n s and $1 + 2[\sigma_1 r + O(1)]$ of μ'_n s. Hence the total number of λ'_n s and μ'_n s in the disc is

$$n(r) = 2 + 2[r(\sigma_1 + 1) + O(1)]$$

and

$$\lim_{r \to \infty} \frac{n(r)}{r} = 2(\sigma_1 + 1).$$
(5.14)

Repeating the last part of the proof of (i) of Lemma 5.1, with the help of the condition $\sigma_1 > 2b/\pi - 1$, we have that inequality (5.9) does not hold, which means $H_2(\lambda) \equiv 0$ on the whole λ -plane.

Step 2: To obtain the integral equation (5.30). We have from (3.7), (3.8), and (5.11)

$$\begin{split} H_{2}(\lambda) &= (h - \tilde{h}) + 2\lambda \int_{0}^{b} P(x)(\varphi \tilde{\varphi})(x, \lambda) \, \mathrm{d}x + \int_{0}^{b} Q(x)(\varphi \tilde{\varphi})(x, \lambda) \, \mathrm{d}x \\ &= h - \tilde{h} + \frac{1}{2} \int_{0}^{\pi/2} Q(x) \cos(\theta_{1}^{-}(x)) \, \mathrm{d}x + \frac{(\alpha^{+})^{2}}{2} \int_{\pi/2}^{b} Q(x) \cos(\theta_{1}^{-}(x)) \, \mathrm{d}x \\ &+ \frac{(\alpha^{-})^{2}}{2} \int_{\pi/2}^{b} Q(x) \cos(\theta_{2}^{-}(x)) \, \mathrm{d}x + \lambda (\alpha^{-})^{2} \int_{\pi/2}^{b} P(x) \cos(\theta_{2}^{-}(x)) \, \mathrm{d}x \\ &+ \frac{\alpha^{+}\alpha^{-}}{2} \int_{\pi/2}^{b} Q(x) [\cos(\lambda \pi - \beta^{+}(x) + \tilde{\beta}^{-}(x)) + \cos(\lambda \pi - \tilde{\beta}^{+}(x) + \beta^{-}(x))] \, \mathrm{d}x \\ &+ \lambda \int_{0}^{\pi/2} P(x) \cos(\theta_{1}^{-}(x)) \, \mathrm{d}x + \lambda (\alpha^{+})^{2} \int_{\pi/2}^{b} P(x) \cos(\theta_{1}^{-}(x)) \, \mathrm{d}x \\ &+ \lambda \alpha^{+}\alpha^{-} \int_{\pi/2}^{b} P(x) [\cos(\lambda \pi - \beta^{+}(x) + \tilde{\beta}^{-}(x)) + \cos(\lambda \pi - \tilde{\beta}^{+}(x) + \beta^{-}(x))] \, \mathrm{d}x \\ &+ \int_{0}^{\pi/2} [f_{1}(x)e^{2i\lambda x} + f_{2}(x)e^{-2i\lambda x}] \, \mathrm{d}x \end{split}$$

$$+ (\alpha^{+})^{2} \int_{\pi/2}^{b} [f_{1}(x)e^{2i\lambda x} + f_{2}(x)e^{-2i\lambda x}] dx + \int_{\pi/2}^{b} [f_{3}(x)e^{2i\lambda(\pi-x)} + f_{4}(x)e^{-2i\lambda(\pi-x)}] dx + \int_{\pi/2}^{b} [(f_{5}(x) + f_{7}(x))e^{2i\lambda(x-\pi/2)} + (f_{6}(x) + f_{8}(x))e^{-2i\lambda(x-\pi/2)}] dx + \int_{0}^{b} e^{2i\lambda t} \int_{t}^{b} Q(x)R_{1}(x,t) dx dt + \int_{0}^{b} e^{-2i\lambda t} \int_{t}^{b} Q(x)R_{2}(x,t) dx dt + 2\lambda \int_{0}^{\pi/2} [g_{1}(x)e^{2i\lambda x} + g_{2}(x)e^{-2i\lambda x}] dx + 2\lambda (\alpha^{+})^{2} \int_{\pi/2}^{b} [g_{1}(x)e^{2i\lambda x} + g_{2}(x)e^{-2i\lambda x}] dx + 2\lambda \int_{\pi/2}^{b} [g_{3}(x)e^{2i\lambda(\pi-x)} + g_{4}(x)e^{-2i\lambda(\pi-x)}] dx + 2\lambda \int_{\pi/2}^{b} [(g_{5}(x) + g_{7}(x))e^{2i\lambda(x-\pi/2)} + (g_{6}(x) + g_{8}(x))e^{-2i\lambda(x-\pi/2)}] dx + 2\lambda \int_{0}^{b} e^{2i\lambda t} \int_{t}^{b} P(x)R_{1}(x,t) dx dt + 2\lambda \int_{0}^{b} e^{-2i\lambda t} \int_{t}^{b} P(x)R_{2}(x,t) dx dt,$$

where

$$\begin{cases} f_{1}(x) = \frac{Q(x)}{4}e^{-i\theta_{1}^{+}(x)}, \\ f_{2}(x) = \frac{Q(x)}{4}e^{i\theta_{1}^{+}(x)}, \\ f_{3}(x) = \frac{(\alpha^{-})^{2}}{4}Q(x)e^{i\theta_{2}^{+}(x)}, \\ f_{4}(x) = \frac{(\alpha^{-})^{2}}{4}Q(x)e^{-i\theta_{2}^{+}(x)}, \\ f_{5}(x) = \frac{\alpha^{+}\alpha^{-}}{4}Q(x)e^{-i(\beta^{+}(x)+\tilde{\beta}^{-}(x))}, \\ f_{6}(x) = \frac{\alpha^{+}\alpha^{-}}{4}Q(x)e^{i(\beta^{+}(x)+\tilde{\beta}^{-}(x))}, \\ f_{7}(x) = \frac{\alpha^{+}\alpha^{-}}{4}Q(x)e^{i(\tilde{\beta}^{+}(x)+\beta^{-}(x))}, \\ f_{8}(x) = \frac{\alpha^{+}\alpha^{-}}{4}Q(x)e^{i(\tilde{\beta}^{+}(x)+\beta^{-}(x))}; \end{cases}$$
(5.15)

and

$$\begin{split} g_{1}(x) &= \frac{P(x)}{4}e^{-i\theta_{1}^{+}(x)}, \\ g_{2}(x) &= \frac{P(x)}{4}e^{i\theta_{1}^{+}(x)}, \\ g_{3}(x) &= \frac{(\alpha^{-})^{2}}{4}P(x)e^{i\theta_{2}^{+}(x)}, \\ g_{4}(x) &= \frac{(\alpha^{-})^{2}}{4}P(x)e^{-i(\beta_{2}^{+}(x))}, \\ g_{5}(x) &= \frac{\alpha^{+}\alpha^{-}}{4}P(x)e^{-i(\beta^{+}(x)+\tilde{\beta}^{-}(x))}, \\ g_{6}(x) &= \frac{\alpha^{+}\alpha^{-}}{4}P(x)e^{i(\beta^{+}(x)+\tilde{\beta}^{-}(x))}, \\ g_{7}(x) &= \frac{\alpha^{+}\alpha^{-}}{4}P(x)e^{i(\tilde{\beta}^{+}(x)+\beta^{-}(x))}, \\ g_{8}(x) &= \frac{\alpha^{+}\alpha^{-}}{4}P(x)e^{i(\tilde{\beta}^{+}(x)+\beta^{-}(x))}. \end{split}$$

(5.16)

Moreover, from $H_2(\lambda) \equiv 0$ on the whole λ -plane and by use of the Riemann–Lebesgue lemma as $\lambda \to \infty$ for $\lambda \in \mathbb{R}$, we obtain that

$$\int_{0}^{\pi/2} P(x) \cos(\theta_{1}^{-}(x)) dx + (\alpha^{+})^{2} \int_{\pi/2}^{b} P(x) \cos(\theta_{1}^{-}(x)) dx$$
$$+ (\alpha^{-})^{2} \int_{\pi/2}^{b} P(x) \cos(\theta_{2}^{-}(x)) dx = 0,$$

and

$$\int_{\pi/2}^{b} P(x) \Big[\cos \big(\beta^{+}(x) - \tilde{\beta}^{-}(x) \big) + \cos \big(\tilde{\beta}^{+}(x) - \beta^{-}(x) \big) \Big] dx = 0,$$

$$\int_{\pi/2}^{b} P(x) \Big[\sin \big(\beta^{+}(x) - \tilde{\beta}^{-}(x) \big) + \sin \big(\tilde{\beta}^{+}(x) - \beta^{-}(x) \big) \Big] dx = 0.$$

Hence, the function $H_2(\lambda)$ can be rewritten as

$$\begin{split} H_{2}(\lambda) &= h - \tilde{h} + \frac{1}{2} \int_{0}^{\pi/2} Q(x) \cos(\theta_{1}^{-}(x)) \, dx + \frac{(\alpha^{+})^{2}}{2} \int_{\pi/2}^{b} Q(x) \cos(\theta_{1}^{-}(x)) \, dx \\ &+ \frac{\alpha^{+}\alpha^{-}}{2} \int_{\pi/2}^{b} Q(x) [\cos(\lambda\pi - \beta^{+}(x) + \tilde{\beta}^{-}(x)) + \cos(\lambda\pi - \tilde{\beta}^{+}(x) + \beta^{-}(x))] \, dx \\ &+ \frac{(\alpha^{-})^{2}}{2} \int_{\pi/2}^{b} Q(x) \cos(\theta_{2}^{-}(x)) \, dx + \int_{0}^{\pi/2} [f_{1}(x)e^{2i\lambda x} + f_{2}(x)e^{-2i\lambda x}] \, dx \\ &+ (\alpha^{+})^{2} \int_{\pi/2}^{b} [f_{1}(x)e^{2i\lambda x} + f_{2}(x)e^{-2i\lambda x}] \, dx \\ &+ (\alpha^{+})^{2} \int_{\pi/2}^{b} [f_{1}(x)e^{2i\lambda x} + f_{2}(x)e^{-2i\lambda x}] \, dx \\ &+ \int_{\pi/2}^{b} [f_{3}(x)e^{2i\lambda(\pi-x)} + f_{4}(x)e^{-2i\lambda(\pi-x)}] \, dx \\ &+ \int_{\pi/2}^{b} [f_{5}(x) + f_{7}(x))e^{2i\lambda(x-\pi/2)} + (f_{6}(x) + f_{8}(x))e^{-2i\lambda(x-\pi/2)}] \, dx \\ &+ \int_{0}^{b} e^{2i\lambda t} \int_{t}^{b} Q(x)R_{1}(x,t) \, dx \, dt + \int_{0}^{b} e^{-2i\lambda t} \int_{t}^{b} Q(x)R_{2}(x,t) \, dx \, dt \\ &+ 2\lambda \int_{0}^{\pi/2} [g_{1}(x)e^{2i\lambda x} + g_{2}(x)e^{-2i\lambda x}] \, dx \\ &+ 2\lambda (\alpha^{+})^{2} \int_{\pi/2}^{b} [g_{1}(x)e^{2i\lambda x} + g_{2}(x)e^{-2i\lambda x}] \, dx \\ &+ 2\lambda \int_{\pi/2}^{b} [g_{3}(x)e^{2i\lambda(\pi-x)} + g_{4}(x)e^{-2i\lambda(\pi-x)}] \, dx \\ &+ 2\lambda \int_{\pi/2}^{b} [g_{5}(x) + g_{7}(x))e^{2i\lambda(x-\pi/2)} + (g_{6}(x) + g_{8}(x))e^{-2i\lambda(x-\pi/2)}] \, dx \\ &+ 2\lambda \int_{0}^{b} e^{-2i\lambda t} \int_{t}^{b} P(x)R_{1}(x,t) \, dx \, dt \\ &+ 2\lambda \int_{0}^{b} e^{-2i\lambda t} \int_{t}^{b} P(x)R_{1}(x,t) \, dx \, dt. \end{split}$$

Specifically, with variable substitution, we can rewrite the integration of the functions $f_j(x)$ for $j = \overline{3,8}$ and $g_k(x)$ for $k = \overline{3,8}$, such as

$$\begin{cases} \int_{\pi/2}^{b} f_3(x) e^{2i\lambda(\pi-x)} \, \mathrm{d}x = \int_{\pi-b}^{\pi/2} f_3(\pi-x) e^{2i\lambda x} \, \mathrm{d}x; \\ \int_{\pi/2}^{b} f_5(x) e^{2i\lambda(x-\pi/2)} \, \mathrm{d}x = \int_0^{b-\pi/2} f_5(x+\frac{\pi}{2}) e^{2i\lambda x} \, \mathrm{d}x. \end{cases}$$
(5.18)

Thus equations (5.17)-(5.18) imply that

$$H_{2}(\lambda) = h - \tilde{h} + \frac{1}{2} \int_{0}^{\pi/2} Q(x) \cos(\theta_{1}^{-}(x)) dx + \frac{(\alpha^{+})^{2}}{2} \int_{\pi/2}^{b} Q(x) \cos(\theta_{1}^{-}(x)) dx$$

+ $\frac{\alpha^{+}\alpha^{-}}{2} \int_{\pi/2}^{b} Q(x) [\cos(\lambda \pi - \beta^{+}(x) + \tilde{\beta}^{-}(x)) + \cos(\lambda \pi - \tilde{\beta}^{+}(x) + \beta^{-}(x))] dx$
+ $\frac{(\alpha^{-})^{2}}{2} \int_{\pi/2}^{b} Q(x) \cos(\theta_{2}^{-}(x)) dx + \int_{0}^{b} [F_{1}(x)e^{2i\lambda x} + F_{2}(x)e^{-2i\lambda x}] dx$
+ $\int_{0}^{b} e^{2i\lambda x} \int_{x}^{b} Q(t)R_{1}(t,x) dt dx + \int_{0}^{b} e^{-2i\lambda x} \int_{x}^{b} Q(t)R_{2}(t,x) dt dx$
+ $2\lambda \int_{0}^{b} [G_{1}(x)e^{2i\lambda x} + G_{2}(x)e^{-2i\lambda x}] dx$
+ $2\lambda \int_{0}^{b} e^{2i\lambda x} \int_{x}^{b} P(t)R_{1}(t,x) dt dx + 2\lambda \int_{0}^{b} e^{-2i\lambda x} \int_{x}^{b} P(t)R_{2}(t,x) dt dx,$ (5.19)

where $F_i(x)$ and $G_i(x)$ for j = 1, 2 have the following form: If $\pi/2 < b < 3\pi/4$

$$F_{1}(x) = \begin{cases} f_{1}(x) + f_{5}(\pi/2 + x) + f_{7}(\pi/2 + x), & x \in [0, b - \pi/2], \\ f_{1}(x), & x \in [b - \pi/2, \pi - b], \\ f_{1}(x) + f_{3}(\pi - x), & x \in [\pi - b, \pi/2], \\ (\alpha^{+})^{2}f_{1}(x), & x \in [\pi/2, b]; \end{cases}$$
(5.20)

$$F_{2}(x) = \begin{cases} f_{2}(x) + f_{6}(\pi/2 + x) + f_{8}(\pi/2 + x), & x \in [0, b - \pi/2], \\ f_{2}(x), & x \in [b - \pi/2, \pi - b], \\ f_{2}(x) + f_{4}(\pi - x), & x \in [\pi - b, \pi/2], \\ (\alpha^{+})^{2}f_{2}(x), & x \in [\pi/2, b]; \end{cases}$$
(5.21)

$$G_{1}(x) = \begin{cases} g_{1}(x) + g_{5}(\pi/2 + x) + g_{7}(\pi/2 + x), & x \in [0, b - \pi/2], \\ g_{1}(x), & x \in [b - \pi/2, \pi - b], \\ g_{1}(x) + g_{3}(\pi - x), & x \in [\pi - b, \pi/2], \\ (\alpha^{+})^{2}g_{1}(x), & x \in [\pi/2, b]; \end{cases}$$
(5.22)

$$G_{2}(x) = \begin{cases} g_{2}(x) + g_{6}(\pi/2 + x) + g_{8}(\pi/2 + x), & x \in [0, b - \pi/2], \\ g_{2}(x), & x \in [b - \pi/2, \pi - b], \\ g_{2}(x), & x \in [b - \pi/2, \pi - b], \\ g_{2}(x) + g_{4}(\pi - x), & x \in [\pi - b, \pi/2], \\ g_{2}(x) + g_{4}(\pi - x), & x \in [\pi - b, \pi/2], \\ (\alpha^{+})^{2}g_{2}(x), & x \in [\pi - b, \pi/2], \\ (\alpha^{+$$

If $3\pi/4 \le b < \pi$

$$F_{1}(x) = \begin{cases} f_{1}(x) + f_{5}(\pi/2 + x) + f_{7}(\pi/2 + x), & x \in [0, \pi - b], \\ f_{1}(x) + f_{3}(\pi - x) + f_{5}(\pi/2 + x) + f_{7}(\pi/2 + x), & x \in [\pi - b, b - \pi/2], \\ f_{1}(x) + f_{3}(\pi - x), & x \in [b - \pi/2, \pi/2], \\ (\alpha^{+})^{2}f_{1}(x), & x \in [\pi/2, b]; \end{cases}$$
(5.24)

$$F_{2}(x) = \begin{cases} f_{2}(x) + f_{6}(\pi/2 + x) + f_{8}(\pi/2 + x), & x \in [0, \pi - b], \\ f_{2}(x) + f_{4}(\pi - x) + f_{6}(\pi/2 + x) + f_{8}(\pi/2 + x), & x \in [\pi - b, b - \pi/2], \\ f_{2}(x) + f_{4}(\pi - x), & x \in [b - \pi/2, \pi/2], \\ (\alpha^{+})^{2}f_{2}(x), & x \in [\pi/2, b]; \end{cases}$$
(5.25)

$$G_{1}(x) = \begin{cases} g_{1}(x) + g_{5}(\pi/2 + x) + g_{7}(\pi/2 + x), & x \in [0, \pi - b], \\ g_{1}(x) + g_{3}(\pi - x) + g_{5}(\pi/2 + x) + g_{7}(\pi/2 + x), & x \in [\pi - b, b - \pi/2], \\ g_{1}(x) + g_{3}(\pi - x), & x \in [b - \pi/2, \pi/2], \\ (\alpha^{+})^{2}g_{1}(x), & x \in [\pi/2, b]; \end{cases}$$
(5.26)

$$G_{2}(x) = \begin{cases} g_{2}(x) + g_{6}(\pi/2 + x) + g_{8}(\pi/2 + x), & x \in [0, \pi - b], \\ g_{2}(x) + g_{4}(\pi - x) + g_{6}(\pi/2 + x) + g_{8}(\pi/2 + x)], & x \in [\pi - b, b - \pi/2], \\ g_{2}(x) + g_{4}(\pi - x), & x \in [b - \pi/2, \pi/2], \\ g_{2}(x) + g_{4}(\pi - x), & x \in [b - \pi/2, \pi/2], \\ (\alpha^{+})^{2}g_{2}(x), & x \in [m - 2, b]. \end{cases}$$
(5.27)

Integrating by parts in (5.19), we have

$$\begin{split} H_{2}(\lambda) &= h - \tilde{h} + \frac{1}{2} \int_{0}^{\pi/2} Q(x) \cos(\theta_{1}^{-}(x)) \, dx + \frac{(\alpha^{+})^{2}}{2} \int_{\pi/2}^{b} Q(x) \cos(\theta_{1}^{-}(x)) \, dx \\ &+ \frac{\alpha^{+} \alpha^{-}}{2} \int_{\pi/2}^{b} Q(x) [\cos(\lambda \pi - \beta^{+}(x) + \tilde{\beta}^{-}(x)) + \cos(\lambda \pi - \tilde{\beta}^{+}(x) + \beta^{-}(x))] \, dx \\ &+ \frac{(\alpha^{-})^{2}}{2} \int_{\pi/2}^{b} Q(x) \cos(\theta_{2}^{-}(x)) \, dx + \int_{0}^{b} [F_{1}(x)e^{2i\lambda x} + F_{2}(x)e^{-2i\lambda x}] \, dx \\ &+ \int_{0}^{b} e^{2i\lambda x} \int_{x}^{b} Q(t)R_{1}(t,x) \, dt \, dx + \int_{0}^{b} e^{-2i\lambda x} \int_{x}^{b} Q(t)R_{2}(t,x) \, dt \, dx \\ &+ i[G_{1}(0) - G_{2}(0)] + i[G_{2}(b)e^{-2i\lambda b} - G_{1}(b)e^{2i\lambda b}] \\ &+ i \int_{0}^{b} P(x)[R_{1}(x,0) - R_{2}(x,0)] \, dx + i \int_{0}^{b} [G_{1}'(x)e^{2i\lambda x} - G_{2}'(x)e^{-2i\lambda x}] \, dx \\ &+ i \int_{0}^{b} e^{2i\lambda x} \left[\int_{x}^{b} P(t) \frac{\partial}{\partial x}R_{1}(t,x) \, dt - P(x)R_{1}(x,x) \right] \, dx \\ &- i \int_{0}^{b} e^{-2i\lambda x} \left[\int_{x}^{b} P(t) \frac{\partial}{\partial x}R_{2}(t,x) \, dt - P(x)R_{2}(x,x) \right] \, dx. \end{split}$$

Moreover, from $H_2(\lambda) \equiv 0$ on the whole λ -plane and by use of the Riemann–Lebesgue lemma as $\lambda \to \infty$ for $\lambda \in \mathbb{R}$, we obtain that

$$G_2(b) = G_1(b) = 0,$$
 (5.28)

and

$$\begin{cases} h - \tilde{h} + i[G_2(0) - G_1(0)] + \frac{1}{2} \int_0^{\pi/2} Q(x) \cos(\theta_1^-(x)) \, dx \\ + i \int_0^b P(x)[R_1(x,0) - R_2(x,0)] \, dx + \frac{(\alpha^+)^2}{2} \int_{\pi/2}^b Q(x) \cos(\theta_1^-(x)) \, dx \\ + \frac{(\alpha^-)^2}{2} \int_{\pi/2}^b Q(x) \cos(\theta_2^-(x)) \, dx = 0, \\ \int_{\pi/2}^b Q(x)[\cos(\beta^+(x) - \tilde{\beta}^-(x)) + \cos(\tilde{\beta}^+(x) - \beta^-(x))] \, dx = 0, \\ \int_{\pi/2}^b Q(x)[\sin(\beta^+(x) - \tilde{\beta}^-(x)) + \sin(\tilde{\beta}^+(x) - \beta^-(x))] \, dx = 0. \end{cases}$$
(5.29)

Hence, $H_2(\lambda)$ can be rewritten as

$$H_{2}(\lambda) = \int_{0}^{b} \left[F_{1}(x)e^{2i\lambda x} + F_{2}(x)e^{-2i\lambda x} \right] dx + \int_{0}^{b} e^{2i\lambda x} \int_{x}^{b} Q(t)R_{1}(t,x) dt dx + \int_{0}^{b} e^{-2i\lambda x} \int_{x}^{b} Q(t)R_{2}(t,x) dt dx + i \int_{0}^{b} \left[G'_{1}(x)e^{2i\lambda x} - G'_{2}(x)e^{-2i\lambda x} \right] dx + i \int_{0}^{b} e^{2i\lambda x} \left[\int_{x}^{b} P(t) \frac{\partial}{\partial x} R_{1}(t,x) dt - P(x)R_{1}(x,x) \right] dx - i \int_{0}^{b} e^{-2i\lambda x} \left[\int_{x}^{b} P(t) \frac{\partial}{\partial x} R_{2}(t,x) dt - P(x)R_{2}(x,x) \right] dx.$$
(5.30)

Step 3: To prove that

$$F(x) = (Q(x), P(x), P'(x))^T = \mathbf{0}, \quad x \in [0, b].$$

Since $H_2(\lambda) = 0$, it follows from (5.30) and the completeness of the vector functions $\{(e^{2i\lambda x}, e^{-2i\lambda x})^T : \lambda \in \mathbb{R}\}$ in $(L^2(0, b))^2$ that, for $x \in [0, b]$,

$$F_1(x) + \int_x^b Q(t)R_1(t,x) \, \mathrm{d}t + iG_1'(x) - iP(x)R_1(x,x) + i\int_x^b P(t)\frac{\partial}{\partial x}R_1(t,x) \, \mathrm{d}t = 0$$
(5.31)

and

$$F_2(x) + \int_x^b Q(t)R_2(t,x)\,\mathrm{d}t - iG_2'(x) + iP(x)R_2(x,x) - i\int_x^b P(t)\frac{\partial}{\partial x}R_2(t,x)\,\mathrm{d}t = 0. \tag{5.32}$$

Specially, according to the definitions of $G_1(x)$ and $G_2(x)$ (see (5.22) and (5.23), or (5.26) and (5.27)), we infer from (5.28) that

$$P(b) = 0.$$
 (5.33)

The forms of $F_j(x)$ and $G_j(x)$ for j = 1, 2 will help us to obtain that $F(x) = \mathbf{0}$ on [0, b]. We only consider the case $3\pi/4 \le b < \pi$, the other case $\pi/2 < b < 3\pi/4$ can be treated similarly. According to (5.24)–(5.27), we see from (5.31)–(5.32) that, for $x \in [\pi/2, b]$,

$$(\alpha^{+})^{2} f_{1}(x) + \int_{x}^{b} Q(t) R_{1}(t,x) dt + i(\alpha^{+})^{2} g_{1}'(x) - iP(x) R_{1}(x,x)$$
$$+ i \int_{x}^{b} P(t) \frac{\partial}{\partial x} R_{1}(t,x) dt = 0$$

and

$$(\alpha^+)^2 f_2(x) + \int_x^b Q(t) R_2(t,x) dt - i(\alpha^+)^2 g'_2(x) + iP(x) R_2(x,x)$$
$$- i \int_x^b P(t) \frac{\partial}{\partial x} R_2(t,x) dt = 0,$$

which together with (5.15)-(5.16) further give that

$$\begin{cases} (\alpha^{+})^{2}Q(x)e^{-i\theta_{1}^{+}(x)} + [(\alpha^{+})^{2}(\theta_{1}^{+}(x))'e^{-i\theta_{1}^{+}(x)} - 4iR_{1}(x,x)]P(x) \\ + i(\alpha^{+})^{2}P'(x)e^{-i\theta_{1}^{+}(x)} + 4\int_{x}^{b}Q(t)R_{1}(t,x)\,dt + 4i\int_{x}^{b}P(t)\frac{\partial}{\partial x}R_{1}(t,x)\,dt = 0, \\ (\alpha^{+})^{2}Q(x)e^{i\theta_{1}^{+}(x)} + [(\alpha^{+})^{2}(\theta_{1}^{+}(x))'e^{i\theta_{1}^{+}(x)} + 4iR_{2}(x,x)]P(x) \\ - i(\alpha^{+})^{2}P'(x)e^{i\theta_{1}^{+}(x)} + 4\int_{x}^{b}Q(t)R_{2}(t,x)\,dt - 4i\int_{x}^{b}P(t)\frac{\partial}{\partial x}R_{2}(t,x)\,dt = 0. \end{cases}$$
(5.34)

Define

$$K_{1}(x) = \begin{pmatrix} (\alpha^{+})^{2}e^{-i\theta_{1}^{+}(x)} & (\alpha^{+})^{2}(\theta_{1}^{+}(x))'e^{-i\theta_{1}^{+}(x)} - 4iR_{1}(x,x) & i(\alpha^{+})^{2}e^{-i\theta_{1}^{+}(x)} \\ (\alpha^{+})^{2}e^{i\theta_{1}^{+}(x)} & (\alpha^{+})^{2}(\theta_{1}^{+}(x))'e^{i\theta_{1}^{+}(x)} + 4iR_{2}(x,x) & -i(\alpha^{+})^{2}e^{i\theta_{1}^{+}(x)} \\ 0 & 1 & 0 \end{pmatrix}$$

and

$$K_{2}(t,x) = \begin{pmatrix} 4R_{1}(t,x) & 4i\frac{\partial}{\partial x}R_{1}(t,x) & 0\\ 4R_{2}(t,x) & -4i\frac{\partial}{\partial x}R_{2}(t,x) & 0\\ 0 & 0 & 1 \end{pmatrix}.$$
(5.35)

Equations (5.34) and (5.33) can readily be reduced to a vector form

$$K_1(x)F(x) + \int_x^b K_2(t,x)F(t) \, \mathrm{d}t = 0 \quad \text{for } x \in [\pi/2,b].$$
(5.36)

Because det $K_1(x) = 2i(\alpha^+)^4 \neq 0$, (5.36) can be rewritten as

$$F(x) + \int_x^b K_1^{-1}(x) K_2(t,x) F(t) \, \mathrm{d}t = 0 \quad \text{for } x \in [\pi/2,b].$$

This is a homogeneous Volterra integral equation and the kernel function is $K_1^{-1}(x)K_2(t,x)$, its solution is identically zero. Thus, we have

F(x) = 0 a.e. on $x \in [\pi/2, b]$.

When $x \in [b - \pi/2, \pi/2]$, it follows that $\pi - x \in [\pi/2, 3\pi/2 - b]$. Thus $f_3(\pi - x) = f_4(\pi - x) = g_3(\pi - x) = g_4(\pi - x) = 0$ for almost all $x \in [b - \pi/2, \pi/2]$. Based on (5.24)–(5.27) and (5.15)–(5.16), and further F(x) = 0 for all $x \in [\pi/2, b]$, we have from (5.31)–(5.32) that

$$K_1(x)F(x) + \int_x^{\pi/2} K_2(t,x)F(t) \,\mathrm{d}t = 0 \quad \text{for } x \in [b - \pi/2, \pi/2], \tag{5.37}$$

where $K_2(t, x)$ is defined as (5.35) and

$$K_{1}(x) = \begin{pmatrix} e^{-i\theta_{1}^{+}(x)} & (\theta_{1}^{+}(x))'e^{-i\theta_{1}^{+}(x)} - 4iR_{1}(x,x) & ie^{-i\theta_{1}^{+}(x)} \\ e^{i\theta_{1}^{+}(x)} & (\theta_{1}^{+}(x))'e^{i\theta_{1}^{+}(x)} + 4iR_{2}(x,x) & -ie^{i\theta_{1}^{+}(x)} \\ 0 & 1 & 0 \end{pmatrix}.$$
(5.38)

Because of det $K_1(x) = 2i \neq 0$, (5.37) and the kernel function $K_1^{-1}(x)K_2(t,x)$ imply

$$F(x) = \mathbf{0}$$
 a.e. on $x \in [b - \pi/2, \pi/2]$.

When $x \in [\pi - b, b - \pi/2]$, it follows that $x + \pi/2, \pi - x \in [3\pi/2 - b, b] \subset [b - \pi/2, b]$. Thus $f_3(\pi - x) = f_4(\pi - x) = 0 = f_j(x + \pi/2)$ and $g_3(\pi - x) = g_4(\pi - x) = 0 = g_j(x + \pi/2)$ for all $x \in [\pi - b, b - \pi/2]$ and $j = \overline{5, 8}$. By (5.24)–(5.27) and (5.15)–(5.16), and further $F(x) = \mathbf{0}$ for $x \in [b - \pi/2, b]$, we have also from (5.31)–(5.32) that

$$K_1(x)F(x) + \int_x^{b-\pi/2} K_2(t,x)F(t) \, \mathrm{d}t = 0 \quad \text{for } x \in [\pi - b, b - \pi/2],$$

where $K_1(x)$ is defined as (5.38) and $K_2(t, x)$ is defined as (5.35). The above equation and the kernel function $K_1^{-1}(x)K_2(t, x)$ imply that

$$F(x) = \mathbf{0}$$
 a.e. on $x \in [\pi - b, b - \pi/2]$.

When $x \in [0, \pi - b]$, it follows that $x + \pi/2 \in [\pi/2, 3\pi/2 - b]$. Thus $f_j(x + \pi/2) = g_j(x + \pi/2) = 0$ for $x \in [0, \pi - b]$ and $j = \overline{5, 8}$. By virtue of (5.24)–(5.27) and (5.15)–(5.16), and further $F(x) = \mathbf{0}$ for $x \in [\pi - b, b]$, we have also from (5.31)–(5.32) that

$$K_1(x)F(x) + \int_x^{\pi-b} K_2(t,x)F(t) \, \mathrm{d}t = 0 \quad \text{for } x \in [0,\pi-b],$$

where $K_1(x)$ is defined as (5.38) and $K_2(t, x)$ is defined as (5.35). The above equation and the kernel function $K_1^{-1}(x)K_2(t, x)$ imply that

$$F(x) = \mathbf{0}$$
 a.e. on $x \in [0, \pi - b]$.

Therefore, in the case $3\pi/4 \le b < \pi$, we have $F(x) = \mathbf{0}$ on [0, b], that is, $p(x) = \tilde{p}(x)$ on [0, b], $q(x) = \tilde{q}(x)$ a.e. on [0, b]. This together with (5.29) further implies

 $h = \tilde{h}$.

Consequently, $p(x) = \tilde{p}(x)$ on $[0, \pi]$, $q(x) = \tilde{q}(x)$ a.e. on $[0, \pi]$, $h = \tilde{h}$, and $H = \tilde{H}$. This completes the proof of the theorem.

6 Conclusion

Inverse spectral problems consist in recovering operators from their spectral characteristics. The interior spectral data used for reconstructing the differential operators contains the known eigenvalues and some information on eigenfunctions at some interior point in the defined interval. Our research here mainly focuses on the inverse problem for interior spectra data of quadratic pencils with impulse inside the defined interval, which has not been considered before as far as we known. With the help of the known interior data, we prove two uniqueness theorems for the pencils L(p,q;h,H;a), which are the generalization of the known results in [12] and [21].

Acknowledgements

The authors would like to thank the referees for careful reading of the manuscript and helping us to improve the presentation by providing valuable and insightful comments.

Funding

The research was supported in part by the National Natural Science Foundation of China (11601299, 11571212) and the Fundamental Research Funds for the Central Universities (GK 201903002, GK 201903010).

Abbreviations

Not applicable.

Availability of data and materials

Data sharing not applicable to this article as no datasets were generated or analyzed during the current study.

Competing interests

The authors declare that they have no competing interests.

Authors' contributions

The authors have equal contributions to each part of this article. All the authors read and approved the final manuscript.

Author details

¹School of Computer Science, Shaanxi Normal University, Xi'an, P.R. China. ²College of Mathematics and Information Science, Shaanxi Normal University, Xi'an, P.R. China.

Publisher's Note

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

Received: 21 June 2019 Accepted: 9 September 2019 Published online: 23 September 2019

References

- Amirov, R.K.: On Sturm–Liouville operators with discontinuity conditions inside an interval. J. Math. Anal. Appl. 317, 163–176 (2006)
- Amirov, R.K., Nabiev, A.A.: Inverse problems for the quadratic pencil of the Sturm–Liouville equations with impulse. Abstr. Appl. Anal. 2013, Article ID 361989 (2013)
- 3. Freiling, G., Yurko, V.A.: Inverse spectral problems for singular non-selfadjoint differential operators with discontinuities in an interior point. Inverse Probl. **18**, 757–773 (2002)
- 4. Hald, O.H.: Discontinuous inverse eigenvalue problems. Commun. Pure Appl. Math. 37, 539–577 (1984)
- Jonas, P.: On the spectral theory of operators associated with perturbed Klein–Gordon and wave type equations. J. Oper. Theory 29, 207–224 (1993)
- Keldysh, M.V.: On the eigenvalues and eigenfunctions of some classes of nonselfadjoint equations. Dokl. Akad. Nauk SSSR 77, 11–14 (1951)
- Kostyuchenko, A.G., Shkalikov, A.A.: Selfadjoint quadratic operator pencils and elliptic problems. Funkc. Anal. Prilozh. 17, 38–61 (1983) English transl., Funct. Anal. Appl., 17, 109–128 (1983)
- Krueger, R.J.: Inverse problems for nonabsorbing media with discontinuous material properties. J. Math. Phys. 23, 396–404 (1982)
- 9. Levin, B.Y.: Lectures on Entire Functions. Transl. Math. Monographs, vol. 150. Am. Math. Soc., Providence (1996)
- Marchenko, V.A.: Sturm–Liouville Operators and Their Applications. Naukova Dumka, Kiev (1977). English transl., Birkhäuser, Basel, 1986
- 11. Markus, A.S.: Introduction to the Spectral Theory of Polynomial Operator Pencils. Shtinitsa, Kishinev (1986). English transl., AMS, Providence, 1988
- 12. Mochizuki, K., Trooshin, I.: Inverse problem for interior spectral data of Sturm–Liouville operator. J. Inverse III-Posed Probl. 9, 425–433 (2001)
- 13. Ozkan, A.S., Keskin, B., Cakmak, Y.: Uniqueness of the solution of half inverse problem for the impulsive Sturm–Liouville operator. Bull. Korean Math. Soc. **50**, 499–506 (2013)
- 14. Paley, R.E.A.C., Wiener, N.: Fourier Transforms in Complex Domain, vol. XIX. Am. Math. Soc., New York (1934)
- Shieh, C.-T., Yurko, V.A.: Inverse nodal and inverse spectral problems for discontinuous boundary value problems. J. Math. Anal. Appl. 347, 266–272 (2008)
- 16. Willis, C.: Inverse Sturm-Liouville problems with two discontinuities. Inverse Probl. 1, 263-289 (1985)
- 17. Xu, X.-C., Yang, C.-F.: Inverse spectral problems for the Sturm–Liouville operator with discontinuity. J. Differ. Equ. 262, 3093–3106 (2017)

- Yamamoto, M.: Inverse eigenvalue problem for a vibration of a string with viscous drag. J. Math. Anal. Appl. 152, 20–34 (1990)
- 19. Yang, C.-F.: An interior inverse problem for discontinuous boundary-value problems. Integral Equ. Oper. Theory 65, 593–604 (2009)
- 20. Yang, C.-F.: Inverse problems for the Sturm–Liouville operator with discontinuity. Inverse Probl. Sci. Eng. 22, 232–244 (2014)
- 21. Yang, C.-F., Guo, Y.: Determination of a differential pencil from interior spectral data. J. Math. Anal. Appl. **375**, 284–293 (2011)
- 22. Yurko, V.A.: An inverse problem for systems of differential equations with nonlinear dependence on the spectral parameter. Differ. Uravn. 33, 390–395 (1997) English transl., Differ. Equ., 33, 388–394 (1997)

Submit your manuscript to a SpringerOpen[●] journal and benefit from:

- Convenient online submission
- ► Rigorous peer review
- ► Open access: articles freely available online
- ► High visibility within the field
- ► Retaining the copyright to your article

Submit your next manuscript at > springeropen.com